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l l‘roducer's equl :
C.ub—normal profits are occurred when TR is 7 than TC. sreater/less

e of break-even point, a firm covers

(Falling/T1sing)

librium is never struck when MC is

3 In cas
' (only variable cost/both fixed and ariable cost)
. AR< AVC is a point of

(continuation of production/discontinuation of production)
PR — is equal to TR — TVC. (Gross profit/Net profit)
6. Accounting Profit = TR - (Implicit Cost/Explicit Cost)
7 MCis than MR before the point of producer equilibrium. greater/less)

SET-2
Nultiple Choice

(hoose the correct option:
I. Profits are maximised only when:
(@) MR = MC
(c) MC is rising

2. In the context of producer’s equilibrium, which one is incorrect?

() MR = MC (b) MCis rising \
(d) Profit maximisation \

(b) MR is falling
(d) both (a) and (¢)

(¢) Cost maximisation
g,

o

Minimum return that the producer expects from his capital invested in the business is

called:

(@) normal profit (b) abnormal profit

(¢) sub-normal profit (d) all of these

i Difference between TR and TC is maximum when

(4) AR = MR (b) MR = AC
~ (c) AC = MC (d) MR = MC ’
* Normal profit is a situation when:

(@) TR > TC (b) TR < TC
. (Tc;TR =TC (@) AR < AC

= TVC is equal to:
@) gross profit (b) net profit
() normal profit (d) abnormal profit
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10.

11.
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13.

14.

SET-3

True or

Net Profit =

VTR - TFC (h) TR -TVC

(n) TR . 1 l‘(" VO (d) None of these

(¢ . )

TR < TC is a situation of -
‘ al fit

(@) normal profit (h) abnormal profi

() losses (d) none of these

( OSSC

If the firm increases its output even after MR = MC (when MC is rising), then:

(@) MR becomes greater than MC () MC becomes greater than MR
(c) MR stays equal to MC (d) None of these

AR = AVC at: .

(a) break-even point (h) shut-down point

(¢) discontinuation point (d) none of these

Production continues as long as is covered.

(@) fixed cost (b) variable cost

(c) average cost (d) marginal cost

Producer’s equilibrium refers to a stage of output at which:
(a) the firm earns maximum profits

(b) the firm has no inclination of changing the level of output
(¢) the firm suffers minimum losses

(d) all of these

In case MR < MG, by cutting output, profit would:

(a) increase (b) decrease

(¢) remain constant (d) none of these

The producer strikes his equilibrium onl
(@) MR

(¢) TR

y when rising MC is equal to:
(b) AR
(d) none of these

If TR = TC = %10, it is a situation of:

(a) abnormal profit (b) normal profit

(d) both (b) and (¢)

(¢) break-even point

False

State whether the following

statements are True or False:

MR = MC is the only condition of producer equilibrium.

A rational-profit maximising producer stops at stage I1I of production.
A firm can never earn sub-normal profits.

At the point of producer equilibrium, MC is falling.

Normal profitis a part of total cost.

Production is discontinued when AR = AVQ

Point of equilibrium does not always imply maximisation of profit.
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(True False)
(True False)
(True/ False)
(I‘rue/Fﬂlse)
(True/ Falst?)
(True/ False)
(Tr ue/ False)
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. Sa
n o
| ement 1 Maximisation of profits is the major goal of producers
St ) s
cratement 2 Average revenue is equal to marginal revenue in sitnations when price remains
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Statement 1

Statement 2 :
: In order to maximise profit, AR should at least be equal to AC.

Statement 1

Statement 2

SE1-5

thoose the Correct Pair of Statements/ldentify the Correct Sequence of Alternatives

constant at all levels of output.

. It is profitable for a producer to produce more as long as MC is greater than MR
: MR is equal to MC at the point of producer’s equilibrium

. Profit is the difference between total revenue and toral cost.

Statement 2 : A producer is said to be in equilibrium when he wishes to expand his production.
: Excess of marginal revenue over marginal cost is alwavs better than equality

between them in order to reach equilibrium.

Marginal cost should be falling at the point of producer’s equilibrium

: Any departure from the state of equilibrium would onlv mean that the profits will

not be maximised.

1. From the set of statements given in Column I and Column II, choose the correct pair of

Statements:

[

| X Column I Column I
A Economic profit () TR — Implicit cost

B. Break-even point
C.MR > MC

 D. At equilibrium point

@ P<AC
() By increasing output, proht would nse
(tv) MC should be f;}Ilinig

Alternatives:
(@) A—(i)
() C—(izi)

(0) B—(1)
(d) D—(v)

Identify the correct sequence of alternatives given in Column 11 by matching them with

r P :
€Spective items in Column I:

Column I

A. Net profit

B. Producers equilibrium
CMR = mc

| .
), Normal profits

Column 11 \
(V,'»)?‘j\nlrwccss;\rv condition of producer’s cquihbﬂu m
@) TR -"TC
(i) AR = AC
(iv) A situation of profit maxumisation
roduce
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Alternatives: - .
(@) A—(11), B—(). C—(m), D—(117) () A=), B—(10), C—@), D—(i;

o )
() A—@). B, G, D7) (d) A—(11), B—(1), C—(v), D—;

)

3. 1dentify the correct sequence of alternatives given in Column I1 by matching "
i : em ..
l[h

respective items in Column I:

| Column1 e _
\. Goal of the producer ‘ . LR < 19 o :
RCINNG)
B. Gross profit () TR — Explicit costs
C. Sub-normal profits () TR = TVC
D. Accounting profits (i) Maximise the difference between r
cost €venue anq
Alternatives:
(@) A—(v), B—(u1), C—(1), D—(ir) (b) A—(u), B—(i), C—(iv), D—(i)
(€) A—(1), B—(ui1), C—(iv), D—(2) (d) A—(iii), B—(2), C—(i), D—(iv)

SET-6

———

Assertion and Reasoning

In the following questions (1-5), a statement of Assertion (A) is followed by a statement of Reason (R).
Choose the correct alternative among those given below:

Alternatives:

(@) Both Assertion (A) and Reason (R) are true and Reason (R) 1s the correct explanation of

Assertion (A)
(b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct explanaton of
Assertion (A)
(c) Assertion (A) is true but Reason (R) is false |
(d) Assertion (A) is false but Reason (R) is true k
l. Assertion (A) : A producer earns abnormal profits when AR > AC. R .
Reason (R) : A producer enjoys maximum profit when the gap between AR and TC 18 the

maximum.
the

N

Assertion (A) : Producer’s equilibrium does not get disturbed when a unit more than
equilibrium level of output is produced. . Lo

Reason (R) @ The difference between TR and TVC shrinks as more than equilibrium leve
output is produced.

W

Assertion (A) @ Price is equal to AC at break-even point.
Weason () @ Break-even point is a no profit, no loss situation.
4. Assertion (A) : AR s greater than or equal to AVC at the point of equilibrium.

. ) o ; . y cover
Reason (1) o I would be irrational to produce if the producer is not able tc
variable cost of production,

even the

of t‘quilibrmm.

5. Assertion (A): "The gap between TR and 'T'C is the maximum at the point f costs:

. soatjon O
T o . e inimisation
Reason () ¢ A rational producer targets maximisation ol prolits and minimisé
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ANSWERS
sET-1

T falling 2. less

3. both lixed and Vi
5. Gross protit

' - Ton
able cost 4. cliscontinuation of product

6. Explicit Cost 7. less

- §ET-2

1. @) 2.(0) 3. (@) 4. (d)
11. (b) 12, (@) 13. (@)

| SET-3

5.(c) 6. (a) 7.(c) 8.(r) 9.(h) 10. (h)
14.(a)  15.(d)

1. False 2.False 3. False
SET-4

L. (a) 2. (d) 3.(c) 4. (b)
SET-5

—_—

L (o) 2. (b) 3.(a)
. SET-6

1 —

L (¢) 2.(d) 3. (a) 4. (b) 5.(b)

4.False 5.True 6. False 7. True

5. (d)
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